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Grade 4
MEAP 2006
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	A
	B
	C
	D
	Type

	9
	61
	5
	24
	Core
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	A
	B
	C
	D
	Type

	36
	21
	30
	12
	Future


Grade 5

MEAP 2005

47 The rectangle below has a width of 7 feet and a perimeter of 32 feet. What is the length of the rectangle shown here? 

                              Perimeter = 32 feet

	l 
	


                                         7 feet 

A 9 feet 

B 18 feet 

C 25 feet 

D 39

	A
	B
	C
	D
	Type

	42
	20
	21
	16
	Core


MEAP 2006
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	A
	B
	C
	D
	Type

	26
	28
	29
	17
	Core
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	A
	B
	C
	D
	Type

	52
	35
	9
	3
	Future
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	A
	B
	C
	D
	Type

	12
	47
	30
	11
	Future


Grade 6

MEAP 2005

62 There are 12 inches in 1 foot. How could one determine the number of cubic inches in 1 cubic foot?

A multiply 12 by 12 by 12

B add 12 + 12 + 12

C multiply 12 by 12



D add 12 + 12

	A
	B
	C
	D
	Type

	20
	19
	38
	23
	Extended


MEAP 2006
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	A
	B
	C
	D
	Type

	24
	4
	65
	6
	Core
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	A
	B
	C
	D
	Type

	61
	11
	17
	11
	Core


Grade 7
MEAP 2005

42 What is the area of a 1800-square-centimeter rug in square meters?

A 0.18 square meters

B 180 square meters

C 180,000 square meters

D 18,000,000 square meters

	A
	B
	C
	D
	Type

	23
	46
	26
	4
	Core


58 The surface area of a table top is 60,000 cm2. What is this area in square meters?

A 600 m2

B 100 m2

C 6 m2

D 1 m2

	A
	B
	C
	D
	Type

	67
	12
	18
	3
	Core
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